THISE EEMRERBEMER

(SFI3E1A1H~SM3E12A31H)

EE R % ZAERE(M) B E (10a%71=y)
= i) H e 7, 700
Bl £ & B H i 8, 800| REFMXIXAZETHE
X R R L ERE 8, 800| FEAZIKIIAIEEE
i yaN = 5, 500
e 2 K »n = 7, 700
W 17000 e grpm-sakB® 20061
Bk 30~69% 20%iE
av Ny E 13, 200| K 70%LIlE  30%1E
ﬂ_gﬂl,\ %$%F‘aﬁig)éﬁbéu)
x5 o 350 #E%(%3,300M 1
N4 v 4 — 9, 350| VHREL, BR 30%LLRINE AT HE
N — N R A — 9, 350| KEHE(F1BHEZEDIL
H |& 3t 7, 700
#H i - ey it 6, 600
ix #| 16, 500 O—4)—Iz&k3
£ # m (& M) 8800 2ol NIEES
- B B # =% 7, 200| 1H S8R
% & 5, 500| FERRFEDIGEIE1,100M1E
KE- Mg | #HEL 5, 500
A% = 6, 050| KEE(F1LZEEZEDIE
- 1% i 5, 500
iE3 ) < Y 66| FBE 1Tm%f-yY
— = 165| /MR
ta - XEERK 6| A1 FOCo%) KBERAEAS
B Ul Y 1, 650| B 1BERILT=Y (M. B ET,)

CE)REZEIIHERIAH T,
RETROH. MEKOIFH-FHE)E20%IEELET,




